@ TP OF 2K T % 100 TElo s 2
W, BT, 100 242 LTEL B,
T’=49, 7°=49-7=343=43,
Ti==43 722301 =1
FoT TP=(T9".73=1%. 43=43
LidoT, ™ oF 247 43

%{%s?s) N2 m OfE3 — N=0 (mod m)

o 269:—5+32n§2°26(n-1)+(3 722D, 6471 497
=2 (~2) 4 (—2)
& (20" +{—2=0 (mod1l)
£oC, 2770437 3 11 ofgsCh B,
(2) 4%+1+52ﬂ~1$42_4ﬁ«]+5“52@$—v1)
=16-47"145.25"!
=547l 5.4
=0 (mod 2])
Lo, M5V 2 ofEsTh B,

(g 0) SRAREMELT, KObOEKDH K,
(1) ) 7% 5 CEl-/k0
(2) 83 D—DRDE
(1) ) 7=2(mod5) THY 224 (mod 5),
P=8=3(mod5), 2*=16=1(mod5)
Wxiz  2%=(29".2%=1%.3=3 (mod 5)
KoT  7™=2%=3(mod5)
LizhioT, RKOAHKDIE 3
) 3000=4 (mod 14) THVH  4’=16=2 (mod 14),
$=64=8 (mod 14), 4'=(4*)’=2"=4 (mod 14)
£ (RETERE) ORDIL, 4, 2, $xBHELTHRYESR,
i 4%*=8 (mod 14)
oAb 43000 4310028 (mod 14)
kT 300090 =43=8 (mod 14)
Ule#f->T, ROZBRVIE 8
(2) 83=3(mod 10) THY 32:=9 (mod 10),
¥=27=7 (mod 10), 3*=9=1 (mod 10)
W 8= (34 3= 1998, 32=1.9=9 (mod 10)
EoT  83¥*=3"=9 (mod 10)
L7 o7, 83 oDl 9

) 3000 & 14 TH > KO

&7 L2 EEELT
BRETHHZEITHHEL,
T AR BN
B, T, PHSTH- .
KDEFRTH L,
R 2, P OFEHE L
3000 % 14 TH -k
D4 THBNE, 3000
E43MERELTE
e LAA-T, 47108
THRYEERD,

€83=10-8+3

€1234=4-308+2
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G 1) B8 n ik, HBEED, ¢ 20T

n=5p+3, n=Tg+4 LFE¥5,
5p+3=Tg+4 k1

Sp"7q“‘=1 @
5:3—7:2=1-) CERRE L ORI B,

O-@&y
5(p—3)~7(g~2)=0
W7 5(p—3)=T(g2)
5 TREWICESEDLS
p—3=Tk (R ZBEH) 2FH p=Tk+3
LFEED,
£oT n=5(Tk+3)+3=35k+18 L ¥
BTHLARYVITIE B

R 2) (1) 3x%+2xy—yP=T7 R EBOT b

Bx—y) (x+y) =7
3x—y, xty BEEIEIL, KOLH KB,

3x—yil 7 —1 —7
xty |7 1 -7 =1

3-y=1, 7, —1, —7 »
B & CENENDEDBL A
xty=7 1, =7, -1 By
{xaz, 2, —2, —2
y=5 —1, -5 1
LoT (x, »=( 5. (& -1,
(—2. -5), (-2, 1) &
(2} xP—xy—2y=4
(r+y) (x—2y) =4
xty, x-0 WBEL,S, KOLIhb,
Txty |1 2 4 —1 —2 —4
x—2yld 2 1 —4 -2 -1
by= 1,2, 4 —1, —2 —4
{x ;’ - X ‘ B L BRI F A
Aay=doz 1 -4 -2 - EMEET,
fx= 2,2 3, -2 —2 -3
iymwl. 0, L 1 0 -1

2 a8 TE-RVITLTHE,
FoT, 9= % 8 cHloksn i, 1%
8 CHl-RVICE LYY,
LS, 5% & 8 CcHloiiE 1
5=1 (mod 8) Th B0 b
58902 (5%) 01 %=1 (mod 8)
LT, a8 cEognir 1
@ BB CE-EVIXLITHD,
Lo, 3%=(3%%.3 % 13 cHloR VI,
1%.3 % 13 CEloRDICELY,
Li=doT, 3% % 13 8ozt 3
=1 (mod 13) CH BN
3102(33)%3. 3=1%. 3=3 (mod 13)
Lo, 390513 cEloa0x 3
@4 £ %9 TE-TRVIZITHD,
FoT, 4=(49%. 42 % 9 cEl- RV,
19642 2 9 CHIS>TRDIZE LYY,
LiedinT, 490 % 9 CHlofeR0Ix 7
=1 (mod 9) THHMD
4205(43)%. 4222196, 42227 (mod 9)
Lo, % 9cHloriix 7

wis) (1) #=3 (mod 8 » L&

nl I +5=3%42-3+5
=20=4 (mod 8)
Lo, #i42n+5 28 TEoRKRVIL 4
2 n=15 (mod 1T) k&
39 % 452 4+ 9523 15245-15+9
=759=11 (mod 17)
£ C, 3mi45n+9% 17T ChlofRix 1
GiE 3n’+5n+9=3-15%45-15+9
=3-225+75+9
w344 7+ 9=08
=11 (mod 17)

Lot
(e, =@ -1, @ 0, B 1. (~2 1,
(-2, 0), (-3 ~1) &

G 3) (1) 2 +ay—y* B+ 3y—2

=2+ (y—3)x—(y*~3y+2)
=2"+(y=3)x~ (1 (y—2) R et
=(x+y-2(2x—y+1) & R T ) g

(2} 2x%+xy—y*—3x+3y=8 v3
255+ xy—y*—3x+3y—2=6
(xt+y—2)2x—y+1)=6
x+y—2, 2x—~y+1 BB, E,
KDLk B,
aty—2]1 2 3 6 -1 -2 —3 —6 O
2x—y+1|6 3 2 1 —6 -3 —2 ~1 @
D+@&y
3w—1=7, 5 ~7, —5 cax-i= -5l x=d, -4
¥ BEBEDS x=2, 2 Eh Y xR B
x=2 D&%
x+y=2=2, 3 Ly y=32 3
x==2 Dk i

xty—2=-—1, ~6 kb y=3 -2
EoT (x, ¥)=(2 2), @ 2.
(-2, 3, (-2 -2 &

R 4) (1) 37 %6 CH>R0 L]l Tha,
EoT, T &6 THI oL, 1'% 6
BlolR0ICE L,
LEdoT, 37 %6 olorgpun 1

@8 37=1 (mod 6) TH B
37100ﬁ110051 (mod 6)
£oT, 3T %6 cHlohIT 1

@B n=2 (mod3b)m k&
'+ 3n4 42+ 3.25 14
=164 24 + 4=44
=9 (mod 35)
LT, w438 44 % 3B TE LI 9
e e) FEPRE L TELIL DD, 7
i ARRE B TREE TE BEIAS 5,

(1) 2412 +120=7n+3 (mod 9)
Tn+3 B IDBIKERD L&, EBEREE LT,
Tn+3=9% L sh 5,
FC I8 %R LT Tn+21=9%+18
Tt Un+3)=Hk+2)
TEVHEVKHETHDND, | % EREE LT,
n+3=0 LERENS,
wziz n=91-3 ,
£oC, KDBriZl=10rET n=6

(2) 373n+142=:13n +7 (mod 15)
Br+7 8150l nnl i, kaasdis L
T, 13n+7=15k LR SN B,
MR 45 %R LT 1374 52=15k+ 45
Thbb 13n+4)=15k+3)
1BEIBBIAEVERTHEND, | 2 ERKE L
T, n+4=15] LFRENZD,
Wz =15/ —4
LoT, RKOBa3l=1nrst n=1l

WET) BB —ofr — 10 THoRY
T2Hf — 100 CHlordkb

(1) 1232 —firpx 1232 3 10 <&l b |2
FLUW UF, 10%2%ELTELS,
123==3, 128%=3%=9, 1233=3%=7
1234341
Lot 123%=(1239%.1232=1%. 9a=g
LidioT, 1282 po—pfiri 9



